Test C 6.1-6.3

Find the component form, magnitude, and direction of ﬁ .
1) Given that P = (-15,9) and Q = (-7, 8)
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Find the component form of the indicated resultant vector by drawing the vectors on the graph below.
2) Letu=(-5,-2), v=(-4,7).Findu + v.
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Find the component form of the indicated resultant vector by drawing the vectors on the graph

3) Letu=(-2,7),v=(8,-7).Findu-v.
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Find a: b.

4)a=(4,-2), b=(8,1) (e)(§)+ (20 C)
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Find the angle between the given vectors to the nearest tenth of a degree.

5) u=(7,1),v=(-6,5
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Determine whether the vectors u and v are parallel orthogonal or neither.
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Solve the problem.

8) An airplane flies on a compass heading of 90.0° at 230 mph. The wind affecting the plane is blowmg at an angle
of 152° at 40 mph. What is the true course and ground speed of the airplane?
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9) A force of 110 Ib acts on an object at an angle of 45°. A second force of 90 Ib acts on the object at an angle of -30°

Ei the direction and magnitude of the resultant force.
= n 957

Ped
ALY _ .. -5
C 3 N .y -35 >
| o Fz-" <90M-ba} Jo s :
S/ i /-
s + Fo 5N [503>
-~ W D oS
)'_:\ y F 2 <IIDL¢>$‘/5+ 69605636’
z
{155.72, 33 75)
. 32 7¥ > // 8‘;
an 57?——
Masy = \//55.72"+ 32.76 % b (s
= /59.19
Graph the pair of parametric equations. Then use an algebraic method to eliminate the parameter.
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Eliminate the parameter.

11)x=6 cost, y=6sint
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Find the parametrization for the curve.
12) The line through the points (3, -3) and (7, 3)
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13) The circle with center (9, -2) and radius 4
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14) Suppose a boat leaves port P headed for an island in a direction of 205 degrées-with the automatic
pilot set for 22 knots. On this particular day, there is 8 knot ocean current with a direction of 116

degrees. At what speed and in what direction will the captain actually need to travel during the
first hour to account for the wind and land at the desired location.
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